NaME:  OOLUT/ONS

STUDENT ID NUMBER:

TEST 3
DAWSON COLLEGE
Calculus 1 (Electronics Engineering Technology)
201-NYA-05
Instructor: Emilie Richer
Date: May 6th 2011

THIS TEST IS MARKED OUT OF 50 points



Question 1. (4 marks each = 20 marks)
Evaluate the following indefinite integrals.
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Question 2. (5 marks)
Give the function y = f(x) that satisfies the following conditions:

L. f"(x) = cos(2x) — 5 — 2x

2. The slope of the tangent line of y = f(x) atx = 1 is 0
3. The function f(x) passes through the point (1,—1)
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Question 3. (5 marks)
Use integration to find the area enclosed between the curves y =2%, y =2, x = —1,
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Question 4. (2 marks each = 10 marks)
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Using the graph of y = sin(7x) illustrated below. Evaluate the following definite
integrals \
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Question 5. (5 marks)

The voltage across an 8.5 nF capacitor in an FM receiver circuit is zero. Find the
voltage after 4.00 us if a current (in mA) i = 0.042¢ charges the capacitor. (Make
sure to keep track of units)
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Question 6. (5 marks)
A current | = —=

T (in A) is sent through an electric dryer circuit containing a

previously uncharged 2.0 uF capacitor. How long does it take for the capacitor
~ voltage to reach 120V?
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